T7y—7 SUMPORIESAILITI S A
—WAEEA T 2T T T AR S

A4 TIRRE S (EPD) FREFREXAWB1-14-8
B43&ES © JR-AI-24160E KANDA SQUARE GATE
' https://ecoleaf-label.ip

E/OL—H—T1) 48—

mr Monochrome Laser Printer
at your side H L_L621 ODW for Europe

T5Y¥—T ##=x =% / BROTHER INDUSTRIES, LTD.

BEHL ERES JR-AI-24160E
EFAPCRES PA-590000-AI-08
Hm1BHEh
PCR% ERA L SIHEEE [558MR)
BEXISRERE VNS 20244781980
AR sl ) MIESIEE  20245%6H28H
TERHRNE. 4. TR, (R MU IR, RIS BEEA R SRFLFREAT
RAES JV-AI-24160E
REEEAE 202956H27H
HROBNK, TEMLE - PCRLE1—DEHE
B : HL-L6210DW PEHZ 2023%F 98 1H
-JU>45 (EPAR) FER g B2
-E£/70 (—HAHETE A D RTF T ) LRSS
-ENRIEREE : 50ppm (A4) BEE=HIRALE*
-ERARMEYAX : A4 NEMRSEE /B REE
<> N/ BENEEENRI
AAREE : 12.1kg. @A : 2.9kg ISO14025(C D TeARBEERUT —F DML U FAREE
-BR/ EERLAN ORED m SMED
XARM(FEUropeftmIiI Ty, *S 25 AR A DI - EEAADRIIDEA F. S AT ARILET>
FEEBOLAERH.
BW\W&hHhE %k
T -TEHERST
inml-ecoleaf—jimukyoku@brother.co.jp https://global.brother/ja

Ei#ES : JR-AI-24160E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

), SUMPORIZSAINT OIS A
e —BHTEAT T T TSRS
H1TMIRIBEEE (EPD) ERHFHBXAESE-14-8
B4RES . JR-AI-24160E KANDA SQUARE GATE
https://ecoleaf-label.jo

OS54 TV1 V) EFhER

Wrco k
LEAE

NRIRERER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 550 | kg-CO2eq
i3] 0.40 | kg-SO2eq
- Jowow
BRHE 0.018 | kg-Sbeq
m DA 52 " Qi = @il
@A HEEE EOREE-UHIIIL
iR B| (Hfi ai OFEMEERE| QXE Qi | @R - ISR | omE- VBN
SKURZE) IPCC 2013 GWP 100a | kg-CO2eq | 5.5E+02 || 1.2E+02 | 5.0E+00 | 8.7E+00 | 4.0E+02 | 2.5E+01
ieZld kg-SO2eq | 4.0E-01 9.1E-02 1.1E-03 7.7E-03 2.9E-01 1.1E-02
BRHE kg-Sbeq 1.8E-02 | 8.6E-03 1.7E-05 3.7E-05 | 9.8E-03 | 6.2E-06
@ EPEAET MBI OB (CET DiER%E
IRE Bify - e (ERES) Hifys
FEELETREER 1.7E+01 kg 5 2.8E+00 kg
IEBEMREIRILF— 8.2E+03 MJ] SUsS 6.2E-02 kg
BATRER 8.2E+01 kg FILE=O AL 1.1E-01 kg
BAEAgEIRILF— 1.5E+02 M] TOMER 0.0E+00 kg
RIKDHEE 5.5E-01 m?3 TSRFvVY 7.7E+00 kg
N 1.7E-01 kg
HSX 3.7E-02 kg
T - A 2.5E+00 kg
SEEEIFREAR 6.3E-01 kg
T At 9.7E-01 kg

OBEMRRICET SEMHHR

EREOEESZE (SFUA)
TU>%s (EPAT) . 1BEERHEAM : 5. EEEIRIARER : 374,4004%. ENRUEIESE (J&—>) :ISO/IEC 19798
EIRIBREREBEREIICESERL. BAULEIRILF-RSY—-—TOIS A : Ver.3.0. A& (FEuropeftmlr

©-1. T DMORIEEERH
AR ERE E T BEPROD b —RUBCARRIE(FISO14001 FBEEHR TIH(CTITOHNTVET,

QERUEZRT—IDERS
IDEA v2.1.3 RUSUMPOBRESNILT OIS ABHRREN v1.10 ZER L.

® %

0 —HHEEDHAF. PCRELUERE - ESHEEZSRULTIIZE0,
OLEE(CDWT(E. BE - SERRBICRESINIRMH 2™z UILIBEICUNRHSNER A,
(Z8B5EURL : https://ecoleaf-label.jp/regulation/)
Eix&ES © JR-AI-24160E



